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Note :

COMMERCE
PAPER —11

This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of them.

Which of the following is not an objective of competition Act 2002 ?
(A) Prohibition of abuse of dominant position

(B) Prohibition of Restrictive Trade Practices

(C) Prohibition of Anti Competitive Agreements

(D) Regulation of combinations

Consumers have the right :

(i)  tobe protected against goods and services that are hazardous to life and property.
(if) toassured, wherever possible, access to a variety of goods and services at notional

prices.
Code :
(A) Both (i) and (ii) are correct
(B) Both (i) and (ii) are wrong
(C) Only (i) is correct
(D) Only (ii) is correct
Which of the following is not an element of the micro environment of business ?
(A) Suppliers (B) Competitors
(C) Trade Policy (D) Publics

Match the following legislations with the year of their enactment :
(a) Industries (Development and Regulation ) Act (i) 1969

(b) Foreign Exchange Management Act (ii) 1951
(c)  Securities Exchange Board of India Act (iif) 1999
(d) Monopolies and Restrictive Trade Practices Act  (iv) 1992
Codes :
(@ (b (o (@
(A) O @) @) )
® O (v @) ()
© @) @) @) @)
D) () @) () @)
Which of the following is not an instrument of monetary policy ?
(A) Deficit financing (B) Statutory Liquidity Ratio
(C) Cash Reserve Ratio (D) Open Market Operations
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1. T fafea 8 @ i @ sedfidem sifufeg = stva 7@ @2
(A) TS HI T & TEIAN H FU" (B) Tfeifea anfos dfa w1 oy
(C) vfdg<ar forieh =remrl =1 fuy (D) FarH fafrm

2. IUHRHT W AR § R
(i) T STIAT ST 3 Sget TR Harsii | Y Gk Sl STk SiteH 3R grufa & faw wifenes €1
(if) STel % H9d B I&E Te TG & To5 Jod W U=y 1 =1fet |
BT :

(A) (i) 3R (i) < T |

(B) (i) 3R (ii) I TeTd 7

(C) I (i) T &I

(D) e (i) T

3. Trefafaa § 9 <emm & =iy TR o1 &iF 91 9@ 7@ ¢ ?
(A) IR (B) ufdg=l (C) =R Hfifa (D) S

4. Trafatea fafei &1 76 @] fwd S ot a9 § faemsg

(a) it (fowm wa femm) sifufem G) 1969
(b) facm fafraa yary stfufem (i) 1951
(c) wrda yfayfa fafrea =g sifufrem (i) 1999
(d) THITYRR T§ GfdarHiedsh IR eRR AfHam (iv) 1992

(@ (B () (@

(A) @ (@) (v) (i)
B) @ (v) (@) (i)
Q) G () (@) ()
(D) G) @) @

Q.

>

111

)

iv)

5. = fafead & @ s difgsw ifa & a9 78§ ?
(A) T Tt fameeen (B) sifufafia e ST
(C) g hIY ST (D) ol AR H1 gfshan
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10.

11.

12.

13.

14.

A and B are partners sharing profits in the ratio of 2:3. They admit C for 1/4t" share in
the business. The sacrificing ratio of A and B is :

(A) 3:1 (B) 1:4 (C) 2:3 (D) 1:1

Premium on redemption of debenture is :
(A) Personal Account (B) Real Account
(C) Nominal Account (D) None of the above

If profit and fixed cost are Rs. 80,000 and Rs 2,80,000 respectively, the total variable
cost and break-even sales are :

(A) Rs. 540,000 and Rs. 9,00,000  (B) Rs. 5,40,000 and Rs. 7,00,000
(C) Rs. 4,220,000 and Rs. 7,00,000 (D) Rs. 4,20,000 and Rs. 9,00,000

The extent to which an organization uses fixed cost in its cost structure is called :
(A) Overall leverage (B) Fixed leverage
(C) Financial leverage (D) Operating leverage

Direct costs are :
(A) Traceable to the cost object (B) Allocated to cost object
(C) Total cost of the cost object (D) None of the above

In a typical demand schedule, quantity demanded :
(A) Varies directly with price (B) Varies proportionately with price
(C) Varies inversely with price (D) Is independent of price

Opportunity cost is a term which describes :

(A) A bargain price for a factor of production

(B) Cost related to an optimum level of production
(C) Average variable cost

(D) None of the above

The principle which states that an input must be so allocated between various uses that
the value added by the last unit of input is the same in all its uses is called :

(A) Marginal Principle (B) Incremental Principle
(C) Equal-marginal Principle (D) Discounting Principle

An example of derived demand is :
(A) Money (B) Car
(C) Cigarette (D) Mobile phone
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6. ANBUHEHH2:3 U & oty e & Wieier & | S =3 | 1/4 90T % ferw C 01
w91 fea | A 3iR B o1 QT 199G 81T
(A) 3:1 (B) 1:4 (C) 2:3 (D) 1:1

7. HO-TE % TAE W S Seeren wirey @ R
(A) SATHIT @Il (B) dTEdforsh @l
(C)  THET @l (D) Wb H ¥ FiE T2 |

8. Afe oy iR TR & SHEST: 80,000 ¥IT IR 2,80,000 ¥TUC § A JA-od 3R TH-Tog
IEEREUE
(A) 5,40,000 & 3R 9,00,000 &  (B) 5,40,000 T9F 3R 7,00,000 T
(C) 4,20,000 T 3R 7,00,000 T (D) 4,20,000 T 3R 9,00,000 TIH

9. I G359 HiH 9 3191 AT @i | ST AN h1 TAIT hidl €, SY hel Sl ©

(A) T ST (B) TR sder
(C) fafva sdier (D) = ST
10. & ANE B © :
(A) T 33T § FHfEa (B) WA 33T W STeifeq
(C) TN I3F i Fd AT (D) Wb H ¥ Fig T2 |

11. fafere =i SRR & wif S areft |

(A) eI & T ke gt 2| (B) &I % WY AUINTH €Y I Igerch ¢ |
(C) T I fariafem# st €1 (D) Hou ¥ @aH g

12. ST NG U § A 21 &

(A) SR H2Hh FHl Hearst qod (B) 3UIE < THAH W H NG Hl(-4d & |
(C) i d =@ aFa (D) TG H ¥ FE & |

13. for@ sif<m fafrew s g ered gfg meft fafest § sRer 2t § 1 1 fagr weomar § ¢
(A) dmi< fagr (B) dIfs fagm
(C) wHHM g (D) =g o1 fagm

14. Tropmel g€ O % fogT 1 ST
(A) Ha (B) &KX (C) fame (D) e HIF
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15. “Kinked Demand curve approach “ is concerned with :
(A) Price Discrimination (B) Price Flexibility
(C) Price Rigidity (D) Dual Pricing

16. Karl Pearson’s coefficient of correlation between two variables X and Y is equal to :
(A) the covariance between two variables
(B) the product of their standard deviations
(C) the square root of product of two regression coefficients.
(D) None of the above
17. “Parameter “ refers to the characteristic of the :
(A) Population (B) Sample
(C) Both (D) None of these

18. If the probability of inclusion of every unit of the population in the sample is equal, it is

called :
(A) Simple Random Sampling (B) Stratified Random Sampling
(C) Systematic Sampling (D) None of these

19. For 3 X2 contingency table, the degrees of freedom for testing the hypothesis is :
(A) 6 (B) 2 © 3 (D) 4

20. The “word length” of a computer is measured in :
(A) Bytes (B) Millimeters (C) Meters (D) Bits

21. ‘Motivation Hygiene Theory * was propounded by :
(A) Herzberg (B) Maslow
(C) Mc Gregor (D) Peter F Drucker

22. ‘Grapevine’ communication is a type of :
(A) Formal communication (B) Informal communication

(C) Written communication (D) Vertical communication

23. ’‘Span of control’ refers to :

A) Controlling technique

B) Number of units under a company
)

D)

Number of subordinates under a manager

(
(
(
( Supply area of a company
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15.

16.

17.

18.

19.

20.

21.

22.

23.

“fohehe Wi sk IR R T R
(A) T fasg (B) T I TR
(C) ¥ I AR (D) fgqea Hifa

X TS Y =il o o= el Taawe 1 98 Hele olish SRR Bl ¢ :
(A) <! = o o wE faero

(B) <M =l o gHTY fo=rall ol UHEA

(C) <M eTerd T[OTieh o TOTeh T o1

(D) SWRIB HIg Tl

“Yurfiet’ 7 9 foraen srfirereon Sfta e &2

(A) SHEE (B) fdedl (C) <M (D) 3TH | g o 7
ofe gfaesl H SEE ) Tdh SHhE o IMHA B hil Tl SRR & O 36 Hed © :

(A) T I9% Ffaeet (B) wfewrs o7 yided

(C) wfafy wfaest (D) SR H F g Tl
TeReTAT S 1 o Tl 3x 2 AT difeteht i feat o wieq’’ € -

(A) 6 (B) 2 © 3 (D) 4

OIS <hi IMfeqeh oTwag A4l STl ®

(A) 9mEed (B) ThefHtex (C) #x (D) foae&m
SAFYROT T AhIE FAGI i ST &t ot :

(A) ester (B) W& (C) THR (D) WX THgH
STTRYETaT T FrEfed ©

(A) ST T (B) =i wEwm

(C) fafaa = (D) ST FHHO

T & foraR &1 99 © :

(A) T dehten

(B) TRl sheat & ST=aia IRl ol dE&
(C) Tk o 3T=<ia Tefieell ot de&
(D) P T ST &
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24.

25.

26.

27.

28.

29.

30.

31.

A written statement of main duties and responsibilities which a particular job entails is
called :

(A) Job evaluation (B) Job analysis
(C) Job description (D) None of the above

Elton Mayo is main contributor to :
(A) Classical approach (B) Bureaucracy
(C) Modern Theory of Management (D) Human relations approach

Which one of the following is an example of non-store retailing ?
(A) Limited Line Stores (B) Discount Stores
(C) Tele Marketing (D) Super Markets

Promotional efforts directed primarily at end users so that they will ask middle men for
the product, is called :

(A) Pull strategy (B) Push strategy
(C) Single segment strategy (D) Penetration strategy

A product line strategy where in a company adds a lower priced products to a line to
reach a market that cannot afford higher priced items, is called :

(A) Trading up (B) Trading down

(C) Product Line Extension (D) Life cycle extension

Which is the step following the ‘test marketing’ in the process of new product
development ?

(A) Idea Screening (B) Prototype Development

(C) Business Analysis (D) Commercialisation

Which of the following is not a demographic basis of market segmentation ?
(A) Income (B) Life Style
(C) Occupation (D) Family Life Cycle

Taffler’s (1995) Z score does not include :
(A) Current ratio (B) Acid test ratio
(C) Stock turnover (D) None of the above
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24.

25.

26.

27.

28.

29.

30.

31.

et el 1 T o fafad auiF aae T Fedl T8 SaEad &l Hhed © -

(A) w1 gediRd (B) hrd fagetwm

(C) = faarm (D) ST6 § ¥ & ff T |
T2 A 1 & ANEH © :

(A) Ffaehat gfEenTor (B) et

(C) e o1 sTar= fagr (D) HT Fwel=4i 1 38 ol

Freafafeag & @ TR-9eRy Fea ¥ grEfed € ¢
(A) Hifrd dfe wuer (B) W Il ®WR
(C) it ArehfeT (D) HX Hifhe

f=H SYNIHT AEIEY W SIS bl [ A & fau i fed sm & fog, fag o wweeq
(A) G ! A (B) ke i IO
(C) T &f" THId (D) W< T

T Teh HIET STYH SAHE S STl H A HhiAd il T8 SIS el Sl el § il
IYURGT $oF U T SIS BRISH H Hed el 21, Tt WHEITT bl e ©

(A) &4 =R (B)  STHNTH =MIR
(C) U F@el i forer (D) 3R % Sita =k I foar

o 3caTe T Y ufshan # ¢ 3% Arhfen’’ & 91 1 =01 i |1 B ?
(A) IR gHE=A (B) rererey faemd
(C) HaE™ fageiwor (D) fUTHTeRTOT

frafafed § & oF 91 SHifRS! & SR W AR 1 faumiieon 788 ?
(A) ™ (B) it Rt
(C) = EM™ (D) TIREre Sfiad <k

TR (1995) % Z () hR § et 7gT & :

A) = FAII (B) TfHE Tw 3TUM
C) efen e (D) ST & ¥ g 7 |

(
(
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32.

33.

34.

35.

36.

37.

38.

39.

Approximately, IRR is inverse of :

(A) Pay back period

(B) NPV

(C) Adjusted Accounting Rate of Return
(D) None of the above

Auction pricing is a superior method of price discovery because :
(A) All can participate (B) None can participate
(C) It Leads to speculation (D) None of the above

Cost of leasing is lower than :
(A) Cash credit (B) Hire purchase
(C) Bank Loan (D) None of the above

Market Efficiency is dependent on :
(A) Information (B) Accounts

(C) Technology (D) Management

The process of integrating the employees’ needs and aspirations with organisational
needs is called :

(A) Organisational Planning (B) Human Resource Planning

(C) Career Planning (D) Succession Planning

Productivity means :

(A) Anact of increasing the knowledge and skills of an employee for doing a particular job
(B) Using the minimum amount of resources needed to produce goods and services
(C) One’s skills, abilities in meeting the needs of the job which one is holding currently
(

D) The ratio of an organisation’s output to its inputs

Human Resource Department is :
(A) Line Department (B) Functional Department
(C) Authority Department (D) Service Department

Business Plans designed to achieve the organisation’s objectives is called :
(A) Human Resource Planning (B) Human Resources forecasts

(C) Strategic Plan (D) Corporate Development Plan

J—0809 10



32.

33.

34.

35.

36.

37.

38.

39.

STTAM: IRR (3T 3R 91R) foeim & :
(A) T o S (B) Tl (NPV)
(C) TIETEhT il FHENNA T&™ & (D) W% T FE T

et Fod geA i SAH YUIel § @ R

(A) Gt Hewrh F ¥ (B) IS HEWFT 7 B Wehell |

(C) TEU IR (D) ST H ¥ HiE &

g ! a3 H 9 forad &1 2t § 2

(A) g JUR (B) T wlig

(C) & Hu (D) Wb H ¥ FiE T2 |

TSR h1 Frerehar it §

(A) = (B) <&@ (C) uTEnfiTent (D) YA

TS ol ATEIIHARAT o Y FHAE hi SIS T TS T THIfed i
yfshan e € ¢

(A) HireAHe FH (B) e HETEA fiSH
(C) iR freH (D) TR fisH

Exiceniie i io i

(A) HHER % Tt fafem % 1 w3 % 97 v Frguman # gfgewm

(B) wgall iR Fansii bl U1 T § W T HH HATEHA 1 YA

(C) =afdTa dAraar ud fqurar St adae e St qul 6 & forg sTrevae ¥
(D) ESH 1 AT Fid T |

)
)

e gareH faam ®
(A) faew faum (B) &M fawm (C) sAfywwn faym (D) Hen faum

TS & eI bl UTH Hid o fATU oFE T2 AR Sl Heard €
SR EEEEICERERISE (B) HME HHIEH YA{HAA
(C)  Torifaer At (D) T fersprer <o
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40. A performance Appraisal System can be used for the following except :
(A) Human Resource Planning
B) Tone up performance

Identify individuals with high potential

D) Discipline employees

41. Banking in India has its origin as early as period.
(A) Vedic (B) Moughal
(C) British (D) None of the above

42. The maturity period of Treasury Bill is :
(A) 91 days (B) 364 days
(©) (A) and (B) both (D) None of the above

43. “ Blue Card” denotes :
A) A Credit Card
B) A Debit Card
C
D

(
(
(C) A Proposition by EU to attract highly qualified professionals from other countries
(D) None of the above

44. “Repo Rate” refers to the rate at which :

A) RBI borrows short term money from the market

B) Banks keeps the money with RBI

C) Bills are discounted by RBI

(
(
(
(D

)
) Forex is purchased by RBI

45. ‘Retail Banking’ means :

A) Credit facilities extended to retail traders

B) Providing personal banking services directly to the consumers
C
D

(
(
(C) Collection of large number of dividend/interest warrants
(D)

Providing services to the employees of large organisations
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40.

41.

42.

43.

44.

45.

Frefafed & 9 frees faw feaea geaish gomelt 1 92T 7@7 ol 2
SR EEEEICERERISE]

(B) e # ofg @

(C) 3= GUEHISA! ot =l st frmen

(D) HHARMI =l STEA HEAT

TR ST T ord: ey TE YT

(A) dfew (B) T

(©) fafew (D) 3WrE | HIE T2
oot foret & afigereran smafy ®

(A) 91 fe (B) 364 fod

(C) <FI (A) 3R (B) (D) IR® H ¥ FE T4 |
ﬂm%t

A) hfse HE

B) Sfae w €

(
(
(C) UM IR g1 3177 T | 3= ArIal UH USIai Rl AR I T T
(D) SWrE H ¥ *E & |

TR FANE Y R A T MW

(A) R e S eredmafy g1 99k 9 & ol §

(B) % v G S ¥ e qm v

(C) R e sk g fafTwa fausi =1 e o S €1

(D) RdTT Al sk g1 foren a1 @del St § |

‘e AfehTT’ T ST ©

(A) GO AR Sl ArEg-Gfagn Y& wE |

(B) SUHRBISH ol Yeaed ®Y W ATHIA sk A Y T |
(C) <t HE H SATHIT / AT YU Thid R |

(D) e 9 TS o KU bl Fal Y& HLAT |
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46.

47.

48.

49.

50.

NOSTRO Account :

(A) Refers to a current account denominated in a foreign currency maintained by a
bank in the currency of home country

(B) Carries no interest
(C) Provides for nominal interest on over night investments
(D) All of the above

Which of the following is not a mode of foreign capital inflow to India ?
(A) FDI (B) FII
(C) NRI Accounts (D) None of the above

IMF has raised the quota and voting share of India which places India at the
place among 184 members of the organisation.

(A) 10th (B) 11th (C) 12th (D) 13th

Foreign Trade Policy 2008-09 forecasts the share of India’s trade in World Trade at :
(A) 12 % B) 13 % G 14 % (D) 15 %

On the basis of the size and composition of external debt, World Bank has classified
India as a :

(A) heavily indebted country

(B) moderately indebted country
(C) less indebted country

(D) severely indebted country

-00o0-
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46.

47.

48.

49.

50.

NOSTRO T :
(A) =T @ g g e facef ge1 o <t 5 5/ 78 ge1 § e S R
(B) RS TEI e S |

(C) ereurafe™ & fae W = foan S 7

(D) SuH 9t

frfafea § & &9 o e § faei gsh & wore = fafa ¥ 2
(A) TH IR (FDI) (B) W 3 3ME (FII)
(C) TH IR 3TE oW | (D) Wb H ¥ &g Tl

3 TH T F9RA & I 3R AATYRR 5@ ¥ WA 1 TS & &l | & T |

& &

(A) <gal (B) TAREal (C) wReal (D) el

foreft MR ifd 2008-09 % STTER fava AR % WRA 1 STAIA fewn 2 -
(A) 1.2% (B) 1.3% Q) 1.4% (D) 1.5%

eI SRUT 1 A W& ST & 3MYR T foge sfeh ¥ YA 1 aviieh ol fomarm @

(A) 9 ®9 H HO-TE TY (B) WITAH ®Y ¥ HU-UE Y
(C) " RU-UE Y (D) TR €9 § RU-T Y|
-00o0-
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